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110& & 54,139 231.6 58,407 — —
111& & 55,118 236.9 60,375 — —
112 & 56,202 240.0 60,113 — —
17 & 53,419 229.2 60,375 — —
29 R 54,497 233.8 60,375 — —
3" & 55,080 236.1 60,375 — —
47 R 54,398 233.0 60,375 — —
5% & 54,946 235.2 60,375 — —
67 & 55,372 236.9 60,375 — —
T9 & 55,315 236.5 60,375 — —
87 & 55,723 238.1 60,113 — —
99 & 55,984 239.2 60,113 — —
107 & 56,340 240.6 60,113 — —
117 & 56,645 241.9 60,113 — —
127 & 56,202 240.0 60,113 — —
113#1* & 55,426 236.7 60,552 — —
Bt ERPHFEY 3.8 {7.5} 0.3 — {—}
10 & 55,426 236.7 60,552 — —
w1 HFEY -1.4 {-3.3} 0.7 — {—}
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